GEOMETRY Date

3.5 Proving Lines Parallel

G.PL.3 Prove theorems aboui lines and angles.

G.PL.4 Know that parallel lines have the same slope and perpendicular lines have opposite reciprocal slopes. Determine
if & pair of lines are paratlel, perpendicular, or neither by comparing the slopes in coordinate graphs and in equations.
Find the equation of the line, passing through a given point, that is paralle! or perpendicular fo a given line,
G.LP.4 Develop geometric proofs, including direct proofs, indirect proofs, proofs by contradiction and proofs involving
courdinate geometry, using two-column, paragraphs, and flow charts formats.
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Ex1:

Determine which lines, if any are parallel.
Justify your answer.
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" Prove Lines Parallel
Ex 3: Use the figure to the right.

Given: min, Zd=.3
Prove: gl p

Ex2:
Find x and mZABC so that g § p.

Statements

Reasons

a.miin Z4=.73

b. Z4 and £1 are supplementary
c. mZ4 +msl = 180

d. m&£4=ms3

e. mZ3 +msl =180

f. £3 and Z1 are supplementary
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Ex 4:

Determine whether n || t. Justify your answer.




